TET -(Paper - 1) ( MATHS & SCIENCE )

PG $HB FROOPS - 90000654 TI3  WPOS SHE : S0 - 9676642050

= SRS S5R0N ol

Grand test -1

CHILD DEVELOPMENTAND PEDAGOGY)‘
85 S BE5E0 BOEDoTUHSR) AT, SThes
8HHE) w6 v ol womam FETN. & S0d8o
B¥o

1) 503588 H880S
3) %0388 HBded

2) s H88eD

4) K}J;e) 5888

12.

3) Lo“ago“oeao 4) 65308

BroH [Hgody HRANHS Swrres® bew $Qod © Sweare
©od e awgo. =8 KP‘QS@SS HoBEH08 e wongo. &
Ddoztes

1) 6585 - &5
3) HBLE - HBEY

Bod & Fer eS80

2) GO — HBFY
4)EREDHD - HOTY

2. (8od TBE OIS (BBt 13.
1) 95°50 KRS8 (BB  2) Dm0’ FHBE Fererotsd Desdo  2)HGon  3)AS 4
3) Dz @y @é’g;ée)@ cs,g@j 2.8 DSore soksd 14. ‘éo?oc‘.é@&)o‘i:éao, &937"526500‘5:&0, 0L Johdren od "?ocg’oéo
1) DR BrH&s005S So%y $O80
3. ool DI Sde SEB Lé:ﬁ:oés Lol B 1) @oé&ﬁeﬁé @255626 ?om;oéo 2) dﬁ)é& &% @255626 ?om;oéo
S, -3 .
1) 0§y S0 ¥ 2) ey 5% 3) QA olS vrpodo  4) IS QoS drrodo
- S, -
3) erarSIES 58 4) Saposte % 15. 2850 £08 NN @BoLL O, 00D [Brerols Foinrld
4 o Sabnls oBEEes’ gret 508 BabmRa biel | §E80%eE HGeR s
(FronE T B2l 8E 1) (©8g8 DIGyw[0 2)%86° HIG)eo
1) %xm) BoxBo 2) SH(TE)B3) Kxddte 4) samsso | 3) e SGeso 4) Sorrdys Hgyoo
5. X8 oo D wdododss (Bl ;6263903 ©ge5HS0 16. &8 Q& BEos® Dhaho RENS w0 &@oiﬁ:‘é’séc‘ﬁo 225i5%08?
1) 29SS - oS Hewomo 2) BiS - HEE &»8 Dogys 2) Ky)s°08 o
3) R - Do BdHHeo 4) LS - @y doe 3) Qgyairds 8 4) Bairgs 8
6. Dgen T8 FrHE 28D Fwid o E&omr S L, Sl Sy 8058 Swodie SriiESPonse drhlegn
Lé;t%o PR Sorftrd) oner Leods?
1) Hsoss @ 2) Himoss (Ee 1) QS @ersio 2) & @erso
3) s (8 1) Py 3) G 4 7pg o
7. Swme w8 T Sorcdoll OGRS &l 18. 808506 80 Bold
1) mé@%ée) @ée)@ _ 8550 2) HdEsreo - Hoho 1) 8ndo 2) 0955 &mi0 3) w5880 4) [ﬁ)tﬁea
3) S - e%cﬁ; 4) Q056 = ooty 19 ‘084 i Borr sfidostio ISP RKed’® Srerd ey
O DBePa0D B (8od BEomr BB
8. osrd BopTE DT SHE GBEE TG ° 03 ¢ 290
S5 2608)020:‘526& 1) ©508r0 28ePon0y) 2) (D8BTe 23ePo00)
1) s0lBch ¥ 5% 2) P85 (Hrel &5 3) Bgprdy atieranody 4) Erig @t5eron0sy
3) e (P 5 1) o5 (Hes 65 20.  TR% Jogsed’ ot FELHH Coreeo HACBESHI wodd
= = $B0BS [Eom Srahodgo
9. %8 oot sy EE KrDoS B DS i) 3 i ) ;sL 3 oot
DG ©I0 (3 2 00
Dofhd  2) s F0503) a0 4) 9SS 5o aﬁjfo - . mﬁ)&éi@ts
€90 €9
10. ‘Bgen EMoHETLTRE DFHE’ &Y (8ob S°Sf 38 Iz : .
ﬁ;o;a% Sodsds 21. 3)@56(3066 SP3E @W’S“’Ngﬁé 80
1) SR8 S ety DoEmas o 1) &880 FET0 TE 580
2) BoldTrah DEE Faw 2) 88 0oDS ELdS seLEsmen
388 )
3) b wEnes JOE B GE5 Solrrdd Apov 3) Ssiygdifo Sogr Do
1) e 3BE o 4) Do SBHFES vomey
11, Dol myitis BEE Srefron assh tom wadsg, P2 20T BT00 ol e BEbS’ 2us eodo
D508 TUR Fohad FPELERIEEE 858 Sogo 1) e 2) HIBENEES 3) wSTo  4) HIG0
1) parsso 2) srcrlystwo 23. (Bod TS o8B @rSE ST JpomEls Somofos
) $080 P D08 ([ Sr2ys’ R Fod BB ©oB (FE FBoTD.



https://creativelearns.com/

24.

25.

26.

217.

28.

29.

30.

1Y)

31.

32.

33.

34.

1) %88 2) DZ%ee
3) KcH JoyEekn 4) $EJEH0

a8 (NS FETost 151 Hod bgw HTH. DI
&0 - 2009 F=8o & FE o Do) aIrErycine Sogys

1) 5% (PHNE Sargrgcioed + 2.8 D) GaPEoen
2) 458 (PHNE GareRgoioen + e gREPArEReND

3) 4% (EPHNE éﬁwéoﬁnen + 2.8 (e (%@Dmegdﬁmﬁ:
4) 5% (ERHNE éﬁwéoﬁnen + 2.8 (e (%@Dmegdﬁmﬁ:

NCF -2005 gsrdo dges Fasomr osdo dhosKe
FBescodo

1) 606%03 FBBeR dayod  2) 3008t e
3) ELL0H08RN eronBey  4) HJS HIFee Soihen

& TEHEERD Hoth AL FHSTBT Sotrts. S
8 iy SON Hob, HBb Vares 5 T SHotrt.

1) ey 2) oHE  3) ésé?gtﬁ?mé 4) o\
5 S55)T (H8FrRosnaS Holden eedo

1) c‘OEé%é Soolgseso 2) @fOEOé%é Sool(gseso

3) @%Lﬁcﬁﬂeao Soo|geso 4) sbHE; HHo|Beo
Bod 8¢° ‘DisRBKe SrEdE DEeroiber’

1) éo@vg a:a@ :ﬁwoéﬁaege:o 2) é@éw@ Eﬁlvocﬁaege:o

3) o an@ Eﬁlvocﬁnege:o 4) 6‘500) a:;@ :éﬁocﬁaege»
Bod S QY £

1) agagen 2) esodreen

3) 265265130‘5) :Asitwezo 4) 2208 (HSHSTL
Qoerd)s oo Hoth /D Béé ERE L)

1) 10 26?6;27@; 2) 20 26?6;27@; 3) 25 26?6;27@; 4) 15 Eé:wéagre»

" LANGUAGE -1 TELUGU
Do SBD 31 Dol 35 (B warmen HioSed.

S5 BHS oy Sded oD
(B5058 ey TeHESoiic
(e°ea 050 oy PODESE Vo)
QTP DERK!
THEE0r (@St T EED
1) TeHEKoNS + (P + HO
2) PHEK0K + (FPed + Xb

3) PHTL + (Peasw+ A0

4) oeHE Koo + (ereeo + DB
& éégoé% SoHéo
1) D508 S0 !

3) e | QHBIH!
& ST ©d8o
1)8509K0 FR0SETE S 2) 53 S0g5308
3) &0 a8 Hdo 4) 808 HJ8 st
‘FoTBIHHEH o 520& fOeJo)éo’ - ®otTK ED-

1) [Jres0 2) ¥8%0 3) d&o 4) s%"eﬁné
& B0 T B By BoSHGHE®?

2) 35!
4) QETPT | DHo5I0!

36.

37.

38.

39.

40.

41.

42.

1) 858, §80, (@0 — AROBT® S,

2) 80 S (Peren Dengdd)

3) 80, B0, [P0 2BLD

4) 505,580, ([FPeeo Hvo searHE 8o

808 S50 HAD 36 ook 40 BHodH emraven hHOoWol.

byen ©o BoSS5we8 Deore, BOE God Hdsren SrED
QISP SEITRE QDT eHTE oS AT, LS o
RDE Do edores’, g $88ns® SwHEd
dgow 38 a&é&’aé@éa. BB SHK) DAco @go
sENonsS)BE $d80 FodDhpT Dowrds. DTy
SPEpHBHE DgoH ©oHd® Nhoho &S grie o¥o
TEFWEHBE D Sro BOHERESHBE dred T
S55i5to w0108 Bokod. vwow) 08 wbo SV Didbo
S0NBoBY BEoR SoK. wEFE F a8i® $818 by
Foren BHH{H[)H T6 vt &S 385_26 Ben o
Fam $5350 LB S0 BT HEahdo Dk, 2.8 3§
oo D a8l $5 wrowd ol 6By ©F Do JoHHTe
3% 05808’ & H¥Eo woll BHIUTEY = 28E° B8ie
08 e EEHN, 08 wBo SBR e Hod 858 .
=0 286 558 bow o aRJET. @ EHTE T &
Do BB VoS STV -G

dpen 'a@éé&)-

1) %o B 508 DTS Hidseen

2) 850508° , gridslstns® $B3 Hivsrenr DKo
3) ®80 5°)) DHATPeD VD0

4) ©g0 THEBEIY DLBHE Hysew

&8 TIETH an N Do

1) 0.8 38 «8)88 2) &R G BIS
3) & a,&?o“) $6 erowd @ob $§)4) 0.8 £ S0
o8 S35 S

1) 28 S8K58 bpeo DS SHHE

2) 2.8¢5° 5158 HYOB §°Q) HYseen @go SV

3) 2.8¢3F 5158 00 ‘@ &&% 98 erand @o& KGy HBo @go
R0 weer égo

4) e.8e° B5K8 hoen HiIsren BESH0ETE

dyen -

1) ©go DD TOHD0LTD  2) i SEIT Dotrdd
3) e S50 BKBEB

4) ©80 sEFonsHBE DIto EEBH0Lrs>

&s a°§260€3620 DR

1) 8o HETEE (HESD

2) 835 QB D8 HrHHNG

3) dge (E5e52E8 HBoD THHHO

4) e starLe Ben)BHD

“BoBBX0’ BN It Ko Fo T

1) 2o, dKoH,arHBo 2) A%, 29, Dend
3) 2050, H$(B5,esed0 4) éfb&tﬁ), ®f),d0d0
‘BoorTe 5D DTRFVE’ P HEHMPODSTE

S é&%éae;‘; DF) N B0 DB HBHo8 ediitedS Shen ©F 20nDiTon



https://creativelearns.com/

Creativelearns.com

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

1) o858 ERsimartogen 2) DBSLo (He°BE

3) BP0 BEDY wcHE08D 4) ST SoTeardyen
QoNDre &BEIND H&Pess ‘ﬁa&aﬁ_‘;&?

1) S8 2) TR 3) IDBTED 4) BB

Lo BDODS ‘Bew Lo HoHd WFHRGo. 60.
1) oo&t 2) DP&HY ToKITD)
3) 8388 Sorrartgen 4) aééégséo ©ERB D
Soad J8PEred ©iiss seEyEires aod (Hesds l61.
1) wbolé (SeaedE 2) seerod (Heeds
3) 05eQe5 (HedE 4) TPy
QBoEE B Lerergido MG VBErodRTD? 62.
1) 8558 K& 205 2) 85158 e, exchHe
3) B5K8S° | B modSE, st
4) 8558 Kot 63.
@58 &%58 BR$ER80D ST KHtH
1) {BohBd 2) 38 3) BXH% 4) S
Dgo $odol 8D 2oTPoBOHR motdh aHE0CRB

64.

1) 03508 FB 2) 39
‘PR Dée;ésao o 3% ok, ©b zéoég dgﬁsﬁdﬁoo’ BT
1) N gidmo 2) SK&58) 5805w Ny
3) SK 3530 4) SK 5%

O Dgres BBNoBL0 Jok 1YL (FEFHorr BOTFD FHYY
1) S0 2) grdEs0 3) BSwo  4) HBlo

‘PEI zéao“gbéé o & 3&J26é.>d.’»§ ool - & FEosY
45 eso

3) THRBSS 4) 0

1)& 2) & 3)8 4)3
D8 & S ée»éa;é&&’ - & mégoésﬁ) ®OOSPE0
1) Pl 2) @oz(ars

3) ererdo|ard 4) $)Bgo(e

‘@t o [@Fodor Fgrahiriont aH@NE FES
w500

1) @rodo 2) efgrabiiro 3) el
BREPGEE’ - SErPRE AfearSso
1) $)ER SaHdy) 2) SOHBS FocH

3) B0y WO P | 4) SRS e

‘VoNEER, BotoR Wl HoSRoT’ - & S’ 6 VS
1) &xdase, Bxdase 2) & agdote

3) &xdasr, @k 4) 353, oxdase

‘YoN BoZLEBS FN B0 -

4) e

DE+R+ W 25+ +D+3y 68.
3§+ +a 4)8 + 1 + >

‘BOBHEHHE oo 39 achBBLBL’ - & mégo@ ‘o o
SreS wBo

1) 56 2) Bolgo 3) oen 4) c‘ﬁ)o“on)é%

SR’ - ©F ST B

1) S0k $60B6 2) g% 8 wokd

59.

65.

66.

67.

69.

3) SherseBorre SBNE 4) (Bar5eoes $8oB6

PrHenTed PrENE Joose NS’ & FPHSSEY 0Tl
Soredo -

1) 2623265%55)0 2) acgﬁfﬁo 3) &g
‘DOMTPEL’ ©F SR8 (BB drdo

1) D B

1) HSE 2) ghyredo 3)2odgo  4) Forrdo
0 "
A . y

You aren't from Brazil,.................. ?

( Choose the correct question tag)

1) were you 2) are you 3)soyou 4) was you
He has read
( Choose the correct adjective form)

1) every 2) world  3) some 4)none
Return the book to the library ......... you will havg
to pay fine

(Fill'in the blank with suitable conjunctions)
1) butalso 2)or 3) and 4) Though
to bea doctor.

( Pick out the correct verb form)

1) glad 2) have 3) came 4) wish
Shecame.......... of all.

(Fillin the blank with suitable adverb)

1) last 2) some 3) from  4) none
Read the following sentence

1) Although his guilty was undeniable, he continued
to Insist on his innocence and demend his freedom,
Which of the following sentences means the samg
as the-above sentence?

1) He was guilty

2)‘He was guilty and admitted his guilty

3) He admitted his guilt but demand to be set free
4) He denied his guilty and asked to be set free

The following sentence has been transformed intg
the passive in four ways.Which trans formation is
the best?

""They will make him king"*

1) He will be made king by them

2) King would be made by them

3) He was made king by them

4) King will be made by them

In which sentence is the verb in the active voice
1) They were detained at the gate

2) You have made its easy

3) It has been recently disproved

4) She was known for her talent in music?

He said that he had hated to go to school. Which oq

the following is the right direct speech version o
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/6.

the above sentence?

1) He said " | hate to go to school”

2) He said " I hated to go to school"

3) He said "I was hated to go to school”
4) He said "I was hating to go to school”

Read the following sentence Rama said ** 1 will
meet Seetha today"

Which of the following is the best reported speech
version of above sentence.

1) Rama said that he will meet sita today

2) Rama said that he would meet sita today
3) Rama said that he will meet sita that day
4) Rama said that he would meet sita that day

Choose the sentence in which the verbs are used
in correct tenses

1) I had met him yesterday after the rain stopped
2) | have met him yesterday after the rain stopped
3) I met him yesterday after the rain had stopped
4) 1 was met him yesterday after the rain was stop-
ping
In which of the following sentences are all prepo-
sitions used correctly?

1) I am not sure it | can accept the post, as | am stil
looking for a house to live in

2) | am not sure if | can accept at the post, as | am
still looking at a house to live in.

3) I amnot sure it | can acceptof the post,as | amstil
working for a house to live on.

4) lamnot sure it | can accept at the post, as I am stil
looking out a house to live by

In the following sentence, the underlined part uses
the wrong tense form of the verb Replage 1t with
the correct choice from thesfour forms given.

The price of essential commodities have rose:
1) risen 2) raised  3) rised 4) rising
One of the words underdined in the following sen-
tences is spelt wrongly. Which is it?
1) They receive the wages today

2) | have perceived the difference

3) We change the conventions

4) Ignorence is bliss?

One of the following words is spelt wrongly. Which
isit?

1) Utterance 2) Guidence
3) Deliverance 4) deceptive

Which of the four words given is closest in mean-
ing to the underlined word in the following sen-
tence.

77.

78.

79.

The coat is expensive
1) Bright ~ 2) Cheap
She sang a doleful song
Which of the following is a word opposite in
meaning?

1) Kind 2) Gentle  3) Mocking 4) Merry

Choose the synonym of ""Cynical™ from the fol-
lowing

1)Bright  2) Cheap  3) lronic  4) Deceptive
In the following sentence a wrong article is used .
Itis underlined. Replace it with the correct article
from the choices given.

The price of an gold went up
1)a 2) one 3) an

3) Costly 4) Deceptive

4) no article

(80-83) Read the following passage and answer the

80.

81.

questions.

Each family these days has fewer children than
before. Anus.parents and teachers, want out chil-
dren to be better than us. A cademic studies have
become the focus of life for a child. All parents
feel that their child should perform well,get good
grades to ensure a brilliant future. All other mat-
ters are of secondary importance.

Teachers put pressure on the child when the
child tails to perform well. Parents blame the teach-
ers for the poor grades of their words. The child is
at the receiving end from both sides, and starts
showing behaviour problems. Matters seem to go
downhill on all fronts.

Research has revealed that all children do not
learn at the same place or by the same method.
Some are quick on the up take but bad at repro-
ducing on paper. Some seemto learn tast and for-
get qually queickly. Other seem to have a mental
block that prevents them from learning . Unfortu-
nately our education system tries to equalise all
of them. This results in some children getting left
behind much to the anguish of parents and the ir-
ritation of teachers.

Which of the following would be the most suitable
title to this passage?

1) Importance of good academic performance

2) Child's academic performance and problems
3) Parental pressure on children

4) Good grades for children

What do the parents expect of their children?
1) Children should do well at examinations

2) Children should be obedient and courteous
3) Children should grow healthy and strong

4) Children should relax and enjoy?

oFso 5550 werDHEM (FHokeod , S ETroNT TR Dasdho ST,
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82.

83.

84.

85.

86.

87.

88.

89.

90.

Why do children show behaviour problems at
school?

1) Children are not disciplined

2) Children are jealous of their classmates

3) Parents and teachers put pressure on the children
4) Parents and teachers neglect the children

Why do not all children perform equally well?

1) Some children are weak while others are strong
2) Parents and teachers are impatient with them

3) Schools do not work well

4) Children have different method of learning

When the prime Minister said this, we know
whom he was eluding to.

( Improve the sentence by replacing the part of
underlined, with the alternate option)

1) referring 2) alluding 3) hinting 4) suggesting
The teacher gave a handout containing a passage
along with three titles to the students and asked

them to read the passage quickly and select the
appropriate title.

The activity emplyed by the teacher in the class-
room s

1) Braistorming 2) mind mapping

3) skimming 4) scanning

The method that emphasises the pupils to think
in the target language is

1) GT method 2) Direct method

3) Bilingual method 4) Reading method

The S-O-S approach made its advent.in‘ndia in
1952. The first Indian state todagree to use this
approsach was.........

1) Madras state
3) Bengal state
IELTS conducts
1) Placement test 2) Proficiency test
3) Diagnostic test 4) Aptitude test
Famous book in Middle English

1) Table Alphabetical

2) Prologue of Can terbury Tales

3) King James Version of the Bible

4) Loves Labour's Lost

Dictation is the technique which integrates the
following skills

1) Reading and writing  2) Listening and writing
3) Listerning and writing 4) Speaking and writing

2) Kerala state
4) Karnataka state
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